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1. Tu'o clice are tltt'ou'tr the ratlclotl.t t'ariable is assigr-red to

Fincl the tleai and var'iatlce'

the sLtrtl. Write the clistribution'
: . [ 15] , :1 '

2.a) If the probabititl'distribLrtion lirnctiorl of a continuolts random variable is

k"\1.-511x1C(.Findi)kii)meaniii)variance'
b)Asatlpleof4iterrrsisselectedfrorl]2orrtoItl,lrich5aredef'ective'Fincltlreexpectecl[8r 7]

rtttltll.-t' , 'l rlt'lc-tir u itertls

bab-ilit,v of getti'ng heads: i) p (x = 3) ii) p ('' < 4)

i.a) J:ight coins at'e tossed' Find the pro 
Calculate:

lr)Tlreprobabilitiesol.aPoissonvariatetalringtlrevaluesland2areequal.
i) P (-r = 0) ii) P ('r = i) 

[7+8]

,l.a) Mean heights oI stuclents is 159crr-ts rvith a standard cleviation of 20' Find hou' nlanl'

StL]CIelltSheiglrtsliebetr'veen]50crrrsand170crrrsu,3.:P''ofl00str1dents'
b).[heerpect.a''nu,..u.,oft1,pograpl-ticalerrors.olrapageofacertainnragazitleis0.2.

\\,hat is tirc ptobabilitl tliat ,1-,- ,,;t; p;g" ;,ou read contains i)'0 and ii) 2 or t.]ore

t1pographica1errors.?ll!,\LL/uqL

5Frotrlthefbllowingrlatafindrihetherthereisarll,significarrtlil<inginthehabitof
takirlg sori drinks alllollg tlre caLegories ol..etllplo1,,ees. 

" 
t l j l

Sott clrinl<.s E..llqYqe:
a I n' t. a i r-Io.1 "!Fl!9e,r

Pepsi l0 25 65

1'humsttP l5 30 65

N4aaza 50 60 30

.frvo l.rorses,,\ and [] r,vere tested accorcl rng tcl the tinle (in secuncis)to rLlrl a pa|ticular

track r,r,itir the,ibllo$rirrg resrrlts. I cst $'hcthJr t\\ro ilorses have the'satne runnirlg capacit)6

[15]

1.,,r:

Horse A 28 30 33 JJ 29 34

llorse B 2L) 30 30 24 21 2()



7.a.) A ranclorr santple of 100 electric bLr lbs, producecl by' a rllanltfactltrer A shor'vetl a tneatl

life of ll90 hrs *,ith a standarcl cleviation of 90. Another sample ol 75 electric bLrlbs

proclLrcecl b) a nranLrlactLrrer Il shou,ed a ureau Iif,e of l210 ri'ith a stanclard dclliatiorr of
I ,'l20.lr^ l.rncl,u,lretlter there is.signifiCant clifference 'betrveen 

the t,eatr'

b) 
'50 

people rvere attacliecl b1'a cliiease allcl 30 r'vere srtrvived' Ii'lhe sun'ival rate is 70%'

test the chain at -5o% level. [8+7]

g. Consicler a three-state Marliov clrain n,ith the transition tnatrix. l1'the initial probabilities

Pt] = (0 2, 0.3. 0.5).

0 I ()

l,= r) i1i ljl
lllo 15 16 0-

a) Find thc probabilities alier ttto tratlsitiot-ts'

b) Fincl het liir.riting probabilities
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